TRENUJEME NA PRIJIMACKY Z DEVITKY: Pracovni sesit

VYRAZY

Roznasobeni zavorky 11, 9+ 30x+ 25
1. 6x-3xy; 12. %+x+x2;
2. -104- Sx; 13. 16 -16x+4
3. 12y+8x-6; 2
L. 2,5xy+20x- 10% T hobx
5. -4x*-3,8xy- 0,6/ 15.  4x +20x+25
6. 20ab-12a*- 3b%
7. 10X - 17xy + 3y2; Vytijkani
8. -6 +L4ab+ 1607
9. 2y+0,8y + 10x+ Lxy, 1. -y(-3x+y+5);
10. 63x+9x% 2. 2x(+2x+3y-1);
3. La(2b+ x- 4a);
. e 4. -3x(y-2x+3);
Umocnéni dvojclenu
5. 05y(3+5x-vy);
1. bL-by+
2. Ly +bLxy+ X
Rozklad na soucin - vzorce
3. 361+ 36xy+9x;
‘I. - .
L. 0,25y -0,7y+0,49; y=5Ny+5)
2. (x-2)x+2);
5. X 209,

9 3 3. (4-2a)L+2a);
6. L-avy G (bx-9)bx+ )
7. +7y+éyz; 5. (7 -3x)(7 + 3x);

6. (2v+3)%

8. 16p-2byr 9 (2y+3)
;5 7. (bx-7)%

9 i .|.L + = 2

A 16 8. (2x+y)5
10. VP +4by+4; 9. (3x-4y)%
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10. 2x+7;
11. 5x-9;

Doplnéni do ramecku

1. (2x+3)=4x+12x+9;
2. (x+6Y°=x+12xy+ 36V,
3. (4a-3b)?°=16d*-2Lab+9b%

Slozitéjsi priklady

1. -18)7 + Ly - 15;
2. -n*+5n-1;

3. 5 +8n+5;
4, 12X -23x+8;
5. -18m*-5n+2;
6. x(3x-1);

7. 7x(2+x);
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